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ACCOUNTANCY

Full Marks : 100

Pass Marks : 30

Time : Three hours

The figures in the margin indicate full marks
for the questions.

Q. No. 1 carries 1 mark each

1 (a) Ix4 = 4
1 (b) 1x2 = 2
1 (c) Ix2 = . 2
Q. Nos. 2-6 carry 2 marks each 2x5 = 10
Q. Nos. 7-11 carry 3 marks each 3x5 = 15
Q. Nos. 12-18 carry 5 marks each 5x7 = 35
Q. Nos. 19-22 carry 8 marks each 8x4 = 32

~ Total =100
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CoS =R T S I 8

(i) Unrecorded liabilities when paid are debited to
Account.
GRS el T4 AR T 2, 01 2 ofie i
24|

(ii) Life Membership Fee is a receipt.
TG Aoy e == 17 |

(iii) A partner acts as of the firm.

L GoEE AT PRt e 2 e e |

(iv) A company is required to publish its every year.
G @i dfs I27 ©iF ' o 1 LACASH |

(b) Choose the correct alternative :

w7 ©ERL (@02 WS 3

(i) When a new partner does not bring in his share of goodwill in
cash, the amount of premium is debited to:
T GFT To SN OfF FACT TH 751 HF0 A =, O
fafmicm #fasd oo s 23 ¢
(n) Premium Account

Tt =i
(b)) Cash Account
o 2=
30T ACOU (BENG) [2]

(a) Fill in the blanks with appropriate word/words :

(c) Capital Account of new partner

Mo WA o4 (=19

- (d) Capital Account of old partner.

SR AR T4 209 |

(i) Financial statements are :

Rom Rqfouft 20 ¢

(@) Summarised reports of recorded facts

- ARwe wYskE REFS eforme
(b)) Detailed reports of recorded facts
TRye wyultr Ry 2femmy

() Summarised reports of only cash transactions
(T M T etE A afowrms

(d) None of the above.
A GHOS 7T |

(c) State whether the following statements are “True” or “False” :

1x2=2
BT AFSEN w5 7 ST @l 2

(1) Subscription received in advance is an asset.

Sl Sl A A A GG TS|
(i) Interest on debenture is payable only when a company earns
L profits:
(I TS SIS T SHE Hitas s 7 e 1 5 |
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 Mention two differences between Receipts and Payments account and

Income and Expenditure account. 2

Tl <96 2R @R SIE-35F RAEE A ﬁﬁ%’ﬁ?%’iﬁl

What is Premium for Goodwill ? 2
FIGE fAfEE e /e
Give two situations under which a partnership firm is dissolved. 2

SIS 2fevitTa SRR 2eE Al (S AeHR 76 AR S T |

A, B and C are partners sharing profits in the ratio 3:2: 1. A retlres B and

C have decided to take up A’s share equally. Calculate the new ratio. 2 :

A, B @2 C o Siofmia 3 : 2 : 1 Sgoiits @i f[esd 9 | A ORPE 820 6| B
R C, A~ T FNG 0ot O} T (RS FTai® (78 | g1 A1 ITEH TAS
e =t |

Name any two items of current assets. 2

T il 7o 5ieTs FeAAed AN (Al |

Mention three uses of financial statement. 2

e dfermed foat 928 ©Ed Al |

What is common size statement ? Mention its two uses. 1e52=8
el v F17 & 7o TIYR S ! |

OR/ 9841
Current Ratio is 3-5:1 and Quick Ratio'2-5 : 1. Inventory is Z 50,000.
Calculate current asset and current liabilities. 3

bfeTe Seli® 3-5:1 GR O TEHAS 2.5 1aaqr?wfﬁmwsoooow%—
(g @ Blere R AR Fefy i

30T ACOU (BENG) [4]

|

9.  Explain the super profit method of valuation of goodwill. 3
A EORETE SIS #S 2wt T S |
10. State three features of Not-for-profit organisation. 3
SIS SIS Sraely Al A IRV foalb @Ry Sraa
OR / 211
Calculate the amount of subscription to be credited to Income and
Expenditure Account for the year ended 31st March, 2019. 3
2019 TR 31 305 ISRICT - BAE G fEs 11 g (Gmr) =i Fefa

|

() Subscription received during the year ended 31st March, 2019
Z 2,50,000. i

Blst 5 2019-9 IS ¢y =i S =R 2,50,000 By |
(i1) Outsfanding subscription on 1.4.2018 — 3 50,@00.
1. 4.2018 Wifscd wi2li® St 50,000 i |
(ii)) Outstanding subscription on 31. 3. 20i9 — 2 35,000.
31. 3. 2019 SIffitd w=ites Bl 35,000 Bl |
( iv)‘ Advance subscription on 1. 4. 2018 — 3 25,000.
1. 4. 2018 Sifat= W@ 2i® bW 25,000 5l |
(®)  Advance subscription on 31.3.2019 — g 30,000.
31. 3. 2019 wifsed e &g dwmi 30,000 i |

1. What is gaining ratio ? Give two distinctions between gaining ratio and

sacrificing ratio. 1+2=3

@Wwwwwﬁ?@mwwwszﬁwﬁm (ERIRES]
el |

30T AC
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OR / 51441

What are the items shown under shareholders’ fund ? X A 3
SRHPEHACE S MR [eae &6 fee

Prepare Income and Expendituré Account from the following Receipts and

12
Payments Account of Ekta Club for the year 31st December, 2018 : 5
31 fCriEa 2018 Sifitd ¢4 293 T=FLT G ! HIEH (0 (TS Tl 9=
I i%ﬂlzl CQI'C?IS qR0d Sl - [i’ﬂﬁ Ao Il ¢
Receipts and Payments Account (G «dg 476 ZA19)

Receipts (T) ®) Payments (X€b) (®)
Cash in hand on 1. 1. 2018 4,400 | Salary ((F9+) 6,800
(1. 1. 2018 Siffcd ZCS ARF Rent (©%) 8,250
o =1ef) Investment (fRfScaian) 3,500
Admission Fee 3,500 Postage (TIF) 1,250
(e reeT) Telephone charges 750
Subscriptions (Wi At biwi) 19,500 | ( GBferczeicia <=5)

Receipts from Billiard Room 2,500 | Books Purchased 6,000
(RfErars = (2 sl =ie) (4&FF TT) |
Interest on Investment ; 600 | Outstanding Expenses 700
(RfFcars e 7m) (SHIIE 2E5)
Life Membership Fee 2,000 | Cash in hand on 31.12. 18 5,700
(TIG R 7o TieseT) (31. 12. 18 IfFc FTe A
Sale of Furniture 100 | o7 =1%)
(TR f&fer)
Miscellaneous Receipts 350
(Fafea =)

32,950 32,950
30T ACOU (BENG) (6]

13.
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Additional information :
Gﬁ:\aﬁ. & 997

(i) Outstanding subscription 2 1,000.
SEMIE biriE #iffsid 1,000 G |

(i1) 60% of the admission fees and the whole of the life membership
subscriptions are to be capitalised.

2 MSER 60% IR SIGIRA AP Bl A>2leftst Timipe Fa00 20 |

(iii) Depreciation on Books < 600.

AT S TCEA AR 600 GBIl |
OR / &2t

What is the meaning of Fund Based Accounting? Mention ,any three
principles of Fund Based Accounting. 2+3=5

offr fefes Rt e Fie Jfefcfes reaes @ @ /e T e
Al
X Ltd. made a profit of Z5,00,000 after considering the following items: 5
X-FieEe T Reaele o = =[ 5,00,000 Bl wf© Sie s ¢
()  Preliminary expenses written off — % 5,000

RIS R ReaspiE — 5,000 i

(i) Depreciation on fixed assets — % 50,000
FI F>ifes Sy — 50,000 B

(i1i) Loss on sale of machinery — ¥ 20,000~
Tgelife f[fer (U@ IR — 20,000 Bl

(iv) Provision for doubtful debts — 710,000
CHEGHE AR T SRR 97 — 10,000 Fil

(v) Gain on sale of Land — 7,500
ofil (e <@ =e — 7,500 G

Contd.



14.

Position of current assets and current liabilities :

ofere Wife @R Bl oiE SafEfS ¢

2017 (3) 2018 (3)
Debtors ((@=wis) 52,000 78,000
Bills Receivables (2= &) 15,000 12,000
Prepaid expenses (Sif&s gme f7) 2,000 3,000
Creditors (A7) 40,000 51,000
Bills Payable (2it7a <) 19,000 12,000
Expenses Payable (2073 53) 34,000 20,000

Calculate cash from operating activities.

TS FEE (AEE Foierd =Ase [l @t |
OR / 9124}

What is meant by “cash equivalents” ? Mention any three objectives of
preparing cash flow statement. 2+3=5

‘ol IATGe” e I @RI 2 Tl 2R A dws wam (@ @ [oAs
Trl] e Tl

Calculate the values of opening and closing stock from the following
information : 5

e 9y (A e «k S sere wAtim i e @ 8

Cost of goods sold — %2,00,000
(ReFte AEE @=sen) |
Stock Turnover Ratio — 8 times
(TGS 2T SRS TGATS) — (b i)

Stock at the beginning is 1.5 times more than the stock at the end.

siafes TG I S TGS A4 (A 1.5 @9 @@ |

30T ACOU (BENG) [8]
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15.

OR / 9341

What is Rétio Analysis ? Mention any three uses of ratio analysis. ) +.3=5

TS ResEe Fi e SEeite Resawels @ e foqit 787 S Tl |

Ram, Shyam and Mohan were in partnership sharing profits and losses in
the ratio of 3:2:1. On 31. 12. 2018 Shyam retired from the firm, Balance

Sheet of the firm on that date was as under : 2+43=5

I, = G2, G 3 < 2 : 1 THATS SIS~ I 0 S mi ] o] PaRe |

il 20181@@WWC@WWWI@?WWW
gt Femre w@oee 2 8

Balance Sheet (T3¢ #@)

Liabilities (%) ®) Assets (377(fG) )
Sundry Creditors 5,000 | Cash (5% &%) ‘ 600
(REy ~hemE) Debtors (@) 15,000
Reserve (&) 6,000 | Less : Provision 1,500 e
Bills Payable (sit7a &) 2,600 (sf%fo) y
Capital (JE4) ¢ Stock (S #4e) 18,500

Ram 20.0C0 Furniture (W) 8,000

(=) Machinery (T&=ifs) 20,000

Shyam 15,000

(*11)

Mohan 12,000 na

(Car=s) é

60,600 60,600

30T ACOU (BENG) [9] Contd.



The terms of retirement were :

AR *o e 2 8

(i) Goodwill of the firm to be valued at % 12,000.

SRR TR TR 12,000 BIFR = 2= |

(i) Machinery to be appreciated by < 5,000.
Fgeiifom =0 5,000 Bl g A |

(1) Furniture to be depreciated by 2 1,000.

PRI o0 1,000 Gl SF 2([ |

(iv) Provision for bad debts to be increased by % 400.
SEaEaE 4 Fffer 400 B g w9 =)

Prepare Revaluation Account and Partners” Capital Account.

AT oM =) SiEs e IR dEe < |
OR/ @31

What is share ? Explain different typés of shares.

ol S Afen qarTa Ssietaa Wi @i

S (I AT 219 12 G2 29[ (F eige wal 202

30T ACOU (BENG) [10]

2+3=5

16.  What is Profit and Loss Appropriation Account ? Why is it prepared ?

2+3=5

|

OR/ &241

Ajoy, Bijoy and Sanjay were partners in a firm sharing profits in the ratio

of 3:2:1. On 31st March, 2019 their Balance Sheet was as under : 5

e, (Re G e 3 2 2 1 1 SAICS 1 oot G=oib efosiera i foet |
31 95, 2019 Siffitd Ot ©ge @i Here e e 2

Balance Sheet (%€ @)

Liabilities ((welt)- ®) Assets (37(f@) ®
Creditors 4,000| Building (S37) 20,000
(AreAI) * Machinery (J2=iif®) | 16,000
Reserve 6,000
(e #fe) Stock (& #i9ly) 5,100

- Capital : Debtors (@=MI<) 6,000
(Je74) ¢
Cash at Bank (78 &=l 6,900
Ajoy (IT5m) 24,000 ash ot Banp /
Bijoy () 12,000
54,000 54,000

Ajoy died on 30. 9. 2019. Under the partnership agreement the executors of

a deceased partner were entitled to:

30. 9. 2019 ©ifftd Ajoy-<& T = | piewce Jo wmicza efsRiEar s 3

(1) Amount standing to the credit of Partner's Capital account.

ORI o [ZAEA (G QA elisfy ol

(b) Interest on Capital @ 12% p.a.

AT 12% A JEH SR FK |

30T ACOU (BENG)
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()  Share of goodwill on the basis of 4 years purchase of last 3 years

average profits.

fRore o q2@R 91T FICOH i 20 TF F( eOET Pl FAICGH L |

(d) Share of profit from the closing of the last financial year to the date

of death on the basis of last year’s profit.

Riofs oA FerE Tofs e 4@ R Rore =i a=e@ (e T9iK wif

@ T e |

e)  Profits for the last three years were:
fRore for T e f2a 8
Year / 924 Profit / ®

| (%)

2016 - 17 8,000/ - _
2017 - 18 12,000/ -
2018 - 19 7,000/ -

Prepare Ajoy’s Capital Account on the date of his death.

Ajoy-<F Tgid SIffitd S e fAi 2o S|

17. What is dissolution of partnership ? How does it differ from dissolution of

firm ? 2+3=5

ST SR W 12 SRR TR SRR A G e 74

30T ACOU (BENG) [12]

OR / G23Y

Dipali and Rajshri were partners in a firm sharing profits and losses in the
ratio of 3 : 2. They decided to dissolve their firm on 31st December, 2019,
when their Balance Sheet was as under : &

TIAITET G T 3 : 2 SIS TS (@A 96 1 G0 2D S 2t |
it 31 BT, 2019 ©ifft efopRitg SRR Paie (73, Sits ©ge #aft o2
Rwe @ e ¢

Balance Sheet (3gg 71@)

Liabilities (¢7e) ) Assets (F7if@) ®
Capital : ' Land (Sf)- 16,000
() Investments (f&fSci9)) 4,000

Dipali (71#iife1) : 18,400 hbum o
das iy ; undry Debtors .
Rajshri (FIS) : 10,600 20,000| (B L
Sundry Creditors 2,000
(ﬁﬁ&f ﬂ@W) Stock (SIQ\!J "FU) 3,000
Cash at Bank (It &nll) 6,000
31,000 31,000

30T ACOU (BENG)

Investments are sold at 2 3,800. Other assets realised as follows :
Land — %28,000, Sundry Debtors — ¥1,800, Stock — ¥ 2,800.

Creditors agreed to accept 5% less. Expenses of realisation amounted to
< 400.

ffFcasiak 3,800 Sl [ier T =01 Sy FTifesfs Rosre @@ 3w simm
41 =7 3 i

ol — 28,000 5iFl,  [RR¥ @M — 1,800 Bil,  Ng© g — 2,800 B |
SeAVIERl 5% T T 826 FACO G 37 |
o) SAMIFFACEF 4h5 400 O |

Prepare Realisation Account, Partners’ Capital Account and Bank Account.

TETAMEF 2=, SAMIE e o «=g icea 2ol oo |

[13] Contd.



18. Explain the following terms : (any two) 2Y2+2Y2=5

T wmetE R @2 (T @I 515)

(i) Calls-in—.advance (Sfe W)

(ii) Under Subscription (F9 &F "1"3112')

(iii) Pro-rata allotment of shares ({6 SAG)

OR/ &1

Prepare a common size Income Statement from the following information :

5
ﬁt‘:‘ﬁ@ﬁﬁ{I CACE G A SNFIEE SN 2iforTm dee e ¢
(%)
Sales (ffe) - 5,00,000
Cost of Goods Sold (& 1 »epm (Hat W) - 3,78,000
Operating Expensg:"s (TTF FITHEE 2=5) — 62,500
Depreciation (SE) = 22,000
Income from Investment (RfEgE 2 =) e 70,000
Income Tax (SNFw4) = 32,500

30T ACOU (BENG) [14]

19. Nanu and Manu are partners of a firm. The Trial Balance of the firm as on
31st March, 2019 was as under : 8 -

ey IR Wi G efSRieT SieTwiE | 31 S5, 2019 Sifitd efevnta Sge fimm
A4 FHiRie @ f2e 2

Trial Balance (¥%9€ {5 #1@)
Debit ®) Credit ®)
Plant and Machinery | 50,000 | Capital : '
(@A) gk PR f
Goodwill (F=1%) 5,000 Nanu — 40,000
Sundry Debtors 31,000 | - T{H-
(Rfeg mamim) - : ;\%anu — 30,000 70,000
Sl S 20000 Sundry Creditors 10,000
(Ve g =i (R =iemm)
Salaries () ; 7000 | Commission 3,000
Depreciation on Plant and GEERD)
Machinery 5,000 | Sundry Receipts 200
(TFAIfox @i SRR (Rfax =ife) '
Stationery CIGIRED) 1,000 | Outstanding wages 600
Insurance (1) 2,000 (o0 TgE)
Cash in hand (Foi% 1) 1,000 | cREreS: o0 Glgg%tr;lem 200
Investment (RRza) 10,000 g
Drawings (Si2el) 2 Trading Account :
Nanu (FF) — 4,000 (@ﬂ—ﬁG@ﬂ =) 2 )
ross Profit (GG &%) [ 50,000
Manu () — 2,000 6,000 Bank Loan (7@ 260 4,000
1,38,000 1,38,000

Prepare Profit and Loss Account, Profit and Loss Appropriation Account

and the Balance Sheet of the firm for the year ended 31st March, 2019, after
considering the following information :

30T ACOU (BENG) [15] : _ Contd.



20.

> creal SAPTR Reawat 63 31 916, 2019 wifftd T2 (@ 2fSviig oe-
I AR, TS~ SRS R @3 Tg@ #@ib 4o FE 8

(i) Write off 21,000 as bad debt and provide 5% provision for doubtful

debts on remaining debts.

1000 B SFETR e BAE 4q1 7@ 92 A AR GEMIEE SAE 5%
ACHRET WS ST e 2= |

(i) Commission received in advance Z 500.
e 2E TR ARSI 500 Giew |
(1) Transfer 10% of Net Profit to General Reserve.
PO ISR 10% ARe Ffe gHEd e 2|

(iv) Allow Interest on Capital @ 5% p.a.
T 8o AR 5% A I 409 A

Bijoya Limited issued 2,000 shares of Rs. 100 each at par, payable as
follows : 8
On Application — 50
On Allotment — 230
On First Call — 220
On Final Call - 220

All the shares were duly subscribed for, called-up and paid-up, except.

the following :
(1)  Arnab holding 100 shares failed to pay first call and final call money.

. (b)) Ayushi holding 60 shares failed to pay the final money.

_All the above shares were forfeited after final call.

Frot FECHS 2o 100/~ BRA AR 20008 wieiefE PRI R 90 =K G
FCEe @ 2AfFeey FI00 =3 8

SiE@iEd A — 30/- O
DG A — 30/- Bl
sl woiEdd % — 20/- Bil

pONG el dd A — 20/- Bl

30T ACOU (BENG) [16 ]

2.

30T ACOU (BENG)

ST G T S ANSAl (@R TR O A WA R
ARG Qe TR o S el el |

(@) 1005 SRHATEA AR S AL T IR pOiE Werad W w7 A |
®) 600 SIHCEd 4iFF WA peis e Y wwi e o |
TG TR THHE pUis et A9 SIS T (el |

Give journal entries in the books of the company to record the above
transactions.

e ERoEeR BT $E T @riiNg 9300 T 2 e |

OR / &1

(1) Mention three differences between shares and debentures. 3

SReelE @R ANATER oG sieley S Tl |

(b) Mention three uses of securities premium. 3

sfoefs SRRER fE76 a7z S Tl |

() What is Authorised Capital of a company ? i 2
GF IR SEEIS SER e 2

Give journal entries in the books of PM Ltd. felating to issue of debentures
under the following conditions : 2+3+3=8

qira R wor Tivs Fone “fRRfosms o PM-FRiGees 95re siem!
of3fS wie ¢

(@) 120, 8% Debentures of 1000 each issued at a discount of 5% and
redeemable at par.

120 5, 1000 BiFR 8% 2eisig 5% <Gite R[F T GTR FTE ARG |

7] Contd.



(b) 150, 8% Debentures of 21000 each issued at 5% discount and
; redeemable at 10% premium.

150 5, 1000 SR 8% He#i@ 5% 3Bits [RT <@ @2 10% SIEE
A NEIT |

(¢) 200, 7% Debentures of T 100 each, issued at a premium of 5% and
redeemable at 10% premium.

200 5, 100 Biig 7% 7@ 5% W@ &/ @ @R 10% SREE
ATAENL T |

OR / G25)

Explain different methods of redemption of debentures. 8

YepoE wAfFeeitaE [ien smafosiE a5 st |

Jugal and Govind are partners in a firm sharing profits and losses in the
ratio 2 : 1. Their Balance Sheet as on Ist June, 2019 was as under : 8

Jugal 38 Govind 2 : 1 SRPITS IS &R IR A5 I *0S b AU
SR | 1 G, 2019 SRR Ot Tg€ #ig e «qem f2e ¢

Balance Sheet (%38 #9)

Liabilities (=) ' €3} Assets (F7=71f€) ®)
Capital : Goodwill ' 12,000
(ET4) 8 (31150)

Jugal - 30,000 Sundry Assets 57,000

Govind : 24,000 54000 (Rfsa 71=7ife)
Reserve (?ﬂ?ﬁE #{fer) 6,000 Cash at Bank 6,000
Sundry Creditors 12,000| (=vieE 79 =<)
(fafza ~Areemiz)
Bills Payable 3,000
CRREE))

75,000 ‘ 75,000

30T ACOU (BENG) [18]

On that date Khirod was admitt_ed as a new partner. He paid ¥ 30,000
towards his capital but unable to pay anything for goodwill in cash. It was
agreed that goodwill will be valued at % 21,000. The new profit sharing
ratio among ]qgal, Govind and Klﬁrod was agreed at 3 : 2 : 1 respectively.

Pass journal entries to record the above transactions and show the Balance

Sheet of the new firm.

ot Oifftd FIEM GFeH wed NS e e Ar @ Rrem e
3@ 30,000 BIF SR O, 7€ FGE & @it 5w 9 [Mre #i w1 9@
BraiE @edl = @, szwooﬁaﬁmwmsm—ﬁm
Selie 3:2:1 A A P @en =

RIS (RS Pl SR S S el we =R To SRt Ty o
oEs |

OR / &1

(i) Mention any three features of partnership business. 3

sl IPNED & & foat @aRE St &t

(i) Mention five distinctions between “Fixed” and “Fluctuating” Capital.

5
1 JoEE R W T A0+ SEm S|

30T ACOU (BENG) [19]



